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Answer: 

Divide the following polynomials by monomials. 
1. 4 3 23 12 18 12 3a a a a by a    

  

2. 3 215 10 5 5x x x by x   

 
 
 
 
 
 
 

3. 3 224 12 6 4 2b b b by    

 
 

4. 3 225 15 50 10 5c c c by    

 
 
 
 
 
 
 

Divide the polynomials by binomials. 
5. 327 8 3 2x by x   

 

6. 4 16 2x by x   

 
 
 
 
 
 
 
 

7. 2 26 7 2a ab b by a b    

 

8. 3 212 5 3 5 4 3x x x by x     

 
 
 
 
 
 
 
 

Divide the following polynomials using synthetic division. 
9. 3 7 4 2x x by x    

 
 

10. 3 23 11 5 4x x x by x    
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Answer: 

Divide the following polynomials by monomials. 
1. 4 3 23 12 18 12 3a a a a by a    

Solution: 
4 3 23 12 18 12

3

a a a a

a

  
 

3 24 6 4a a a      

2. 3 215 10 5 5x x x by x   

Solution: 
3 215 10 5

5

x x x

x

 
 

23 10 1x x    
 
 

3. 3 224 12 6 4 2b b b by    

Solution: 
3 224 12 6 4

2

b b b  
 

3 212 6 3 2b b b     

4. 3 225 15 50 10 5c c c by    

Solution: 
3 225 15 50 10

5

c c c  
 

3 25 3 10 2c c c     
 
 

Divide the polynomials by binomials. 
 
5. 327 8 3 2x by x   

Solution: 
2

3

3 2

2

2

9 6 4

3 2 27 8

(27 18 )

18

( 18 12 )

12 8

(12 8)

0

x x

x x

x x

x

x x

x

x

 

 

 



  



 

 

29 6 4x x    

6. 4 16 2x by x   

Solution: 
3 2

4

4 3

3

3 2

2

2

2 4 8

2 16

( 2 )

2

(2 4 )

4

(4 8 )

8 16

(8 16)

0

x x x

x x

x x

x

x x

x

x x

x

x

  

 

 

 

 



 

 

3 22 4 8x x x     
 
 
 
 
 
 
 
 
 
 



Name: _________________________________________________ Period: ___________ Date: ________________ 

Dividing Polynomials Bell Work 

Copyright © Algebra1Coach.com   3   

7. 2 26 7 2a ab b by a b    

Solution: 

2 2

2

2

2

2

3 5

2 6 7

(6 3 )

10

( 10 5 )

6

a b

a b a ab b

a ab

ab b

ab b

b



  

 

 

  

 

26
3 5

2

b
a b

a b
  


 

8. 3 212 5 3 5 4 3x x x by x     

Solution: 
2

3 2

3 2

2

2

3

4 3 12 5 3 5

(12 9 )

4 3

(4 3 )

0 5

x x

x x x x

x x

x x

x x



   

 



 



 

2 5
3

4 3
x x

x
  


 

 
 

Divide the following polynomials using synthetic division. 
 
9. 3 7 4 2x x by x    

Solution: 
3 2

1 0 7 4 2

2 4 6

1 2 3 2

x x x c

  

 

 

 

2 2
2 3

2
x x

x
   


 

 

10. 3 23 11 5 4x x x by x    

Solution: 
3 2

3 11 5 0 2

6 10 30

3 5 15 30

x x x c

 

  



 

2 30
3 5 15

4
x x

x
   


 

 


